LN accused of any offence or « rime can
No *""“:';h‘d 10 be a witness apainst himself/
-

I/
| e 2 nis is termed as
| r"q\l‘ .

A Right 1O remain silent
;,1]. Right against sell-Incrimination

(C) Right to freedom of expression
(D) Right to privacy
s, India has become Second Largest Emerging
Green Bond Market after
(A) UK (B) v
(C) USA (D) China

3. Who organised Barrah Dacoity in 1908 ?
(A) Pulin Das

Bl
(B) Madanlal Dingra ’5‘1;'1::[1‘!3
A€) Khudiram Bose .1?0'] 160 e
- - a— \ =
(D) Rasbihari Bose QY O \-

oo

/(A) 1.1 km (B) 1.8 km
(C) 1.4 km (D) 1.0 km

5. Several ribosomes may attach to a single
mMRNA and form a chain called

((A)' polyvests (B} polyps
—(C) polysacks (D) polysome

6. National Small Savings Fund (NSSF) in the
Public Account of India has been established
with effect from the year

(A) 2019 8] 1999

(C) 1979 (D) 1969
7.“\ t what time do the hour-hand and the minute
hand of a clock coincide between 4.00 a.m.

and 5.00 a.m.inaday?

7 9
; :21—am.
(A) 44.2211 am. (B) 4 T

(C) 4 -22_?_ am. (D) None of these
11

8. Fourifth of a number is more than three-
fourth of the number by 4. The number is
(A) 80 (B) 84
| (C) 72 (D) 64

*
’ ca o X4
Moy = "2

. "
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() 7
(C) iy (B) £
3. 19081y 53 0 %
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R L
(B) Wt
(C) rm sy
(D) Tafiert zy
a,
“’ﬁ"immﬁtﬁmmmm}@,—n—-
5 500 m et e 8. o
_ﬁ%aﬂummmm%m?, o
600 m ¥ e 8 | 7z 7o 2 e
Re?
(A} 1.1km
(C) 1.4km {(g} ig tn
5, #u@mqumnmégﬁtﬁi’ﬁ
1 T § Fort e e 23
(A) et (B) W E  33H
(€) wiehém (D) e

6. WA % WS @ § T 7Y 799

ffer (NSSF) e ad o

(A) 2019 (B) 1999
(C) 1979 (D) 1989

7. wEfaiamd 5w b e

o T i 2 o e AT -
@ ¥ T €l # 7

7 912
3 e 4:21—am.
(A 4:227am (8] =

(C) 4:221—91-a.m. (D) ¥H & 1§ 7@

e i 1 - e & - §

AR S IHEIR )
(A) 80 P s
0 72 },\D (D) 64 1
-}/N nJk o
A

~Z e
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10.

11,

12.

13.

14,

15.

G

CMMS =~ 51
o ofyq-mn A L
Which of i 9, fawaferfera 1H
ch of the following is example for simple it 3 7 o) A7 J
umbel inflorescence ? ’Ar) i 7 (’“f safam 7
(A) Fennel (B) Onlon () et ) ¢, 0,EF
(C) Carrot (D) Corlander 10, o uftar it A9 dif7ii s VA e,
A family consists of nine persons A, B, C, D, £, ' r " -mrl?fl':'ﬁ | g UE ’f f;f ¥ 1T ;Prf
F, G, H and | in three generations. There Is Y G . sy, T A ' g e et A
teacher, a principal, a house wife, a managﬁﬂ v i, § | it BT ;;f-‘r«'rrf»‘."f A fl '8 (A,
a doctor, a singer and three students. Al the g feren AT 72 ) § | 2t UF G o P
students are unmarried and there are three ofyq fanfea 15 % 1 % ey 3 A TF qfr" 77
married couples in the family. Doctor Is }Gﬂ s Al B 1 £, 7 o, (_ ,.? ) ot 7, A
father of a student. A is the grandmother 0 . (321 B fafere 71 4217 | gl tirat F
E, a student, is the sister-in-law of C, @ hﬂusfs AR A ;,-, ) AN ALELE 8 7
wife. Doctor is the son of B, principal. Thgr? i p % 11 7 ./ mf:ﬂ:r’?'-f’m”a ;!
great bonding between H and his unc!e! i ari 1B, o M
married to manager F. How is B related to (a) for
singer ? fruffra = fem 1 Al
(A) Father (B)
(B) Cannot be determined (C) gg‘ .
(C) Father-in-law (D) 3 A i g T 0P
(D) Husband 11, g4 A F fer ‘
______is the starting point or 3 doorway FaLl () T
to the Web site. (8) Hyperink (A) o (D) @357 e
(A) Hypertext (c) s p R FATE
() Homepage (0] WeORR® | o i A T S g
A badge having two Stars and 3 Ribbon % "in i i ainm_;;mm_’ P g gt
width, half red and half blue worn horizontally, ferai 1 A A A e, —
red colour facing the stars belongs to (A) TETH ST
(A) Assistant Sub Inspector (B) egaﬂ'{éaﬁ
(B) Head Constable (C) ZaFIEF
ub Inspector (D) ELUAED
(D) Inspector . meﬁmﬁwmﬁﬂ?
The fourth term of the series whose n termis | 13. ﬁ"j@?al
Iy !
3n+2 z
—ck ’ B (A) 14/5 &
3 3 J}a-"“" c) 13/5 (0)
(A) 14/5 (B) - B 5
is a input dev)'ice. o A 7 ((D) A
A) CPU L Bt o ¢) wHiet il
Ec) Monitor (0) Mmhfrboard 15 q(m a1 3 gt 41 B & | ¥ q ¥ ﬁag‘, ‘
There are total of 41 students in a class. . Sefiza, FeAlE 37 &, sq:(ﬁq gal Ak
Each of the students can play at least one Od 3 ’ 3 o & | ¥ peaia 3l
mes — Badminton, Football an FH TF ? k 2 e
the three ga ho can play Aeara ol @ §ed 12 T
Hockey. The numbg; of tsl:lajﬁfsnit; \.;n'c; gg ot‘i; ! -a-gﬁz:[“ it el Nl % o el
Badmintonana FOO 1, : S
aO:LV H%ckey is 14 and only Badminto}:: zgﬂ S et e 108 ]agﬁa@m@; ?‘Eﬁ
Hodayls 11 ggn'}tﬁgo;lﬂlgeern;? su:ugents # @@ 25 © | Fad @& i Qerrarel STl @l
dminton is 25.
Efﬁf, Eiaan";:ulay only one game is the same fo; ﬁ@lﬂ\ﬁ?ﬂ?ﬂﬂ*ﬁiqm%, -(ﬁ@ foraq O
all the three games, then find the number o 35 aoft it daaFad?
students who can play all the three games. "
(A) 4 (8) 10 (A) 4 (B) 1
“(c) 2 (o) 1 (C) 2 (D) 1
[; A 5
3.

l{ .
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A\ ey, . b i ol oof e I eaiagt at
4 1] bt | . .

Ll fecvivie g

"|\\_ “..‘nlt\r\

e TR supphies food o the
Al ETRINL )
B Tapetum

. () Trachieds v

18 sl bome  sonvey  technology  recently
‘ panched By Central Government for

(A) Post-harvest technology

(8] Disease management

(¢! Groundwater management

(D! None of the above

18, SDRAM stands for

(A Systematic Dynamic Random Access
Memory

{8} Standby Dynamic Random Access
Memory

(C) Synchronous Dynamic Random Access
Memory

(D) Static Dynamic Random Access Memory

20. Programs that multiply like viruses byt spread
from computer to computer are called as
(A) Boot 8 Worms
(C) Virus (D) None of these
21. Whatis the minimum number of cuts required
to cut @ cube into 324 pieces ? i
(A) 19 " (B) 20 o
(C) 17 ¢ = (D) 18 20
22. The focal length of a convex mirror whose
redius of curvature is 32 cm
v C (A) 30cm -TB) 16cm
(C) 32em (D) 64 cm

23. Thick cuticle on their leaf surfaces and have
their stomata arranged in_deep pits is a
characteristics of
(A) Epiphytes (8) Mesophytes
(C) Hydrophyte plants (D) Desert plants

24. Five persons were playing card game sitting
in 2 circle zll facing the centre, Mukund was
to the left of Rzjesh, Vijay was to the right of
Anil and between Anil and Nagesh. Who was
to the right of Nagesh ?

(A) Anil (B} Mukund
(C) Vijay (D) Rajesh
Q S -4-
X MR

1Y /
Download from w\‘fvw.lﬂ)}ls%dmationT'\}.éom
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18.

19,

20.

21.

22.

23.

24,
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LA ‘Hfﬂ“ Tmh
(A) vziefify .
(€) Mherghys (0) Fren AL
tef ARG Ly o e B B e

—_ R A g, B

(A) %21f varr s
(B) T watery .

lC) !hn 8 ‘g’mm _
(D) 3witwar 1 ) s ot

UH.E3mn oy, W1 werera B

(A) ﬁ@ﬁﬁacm}hhwﬁm B
(8) ézargszha&nmnw
(C) femrrm srrsfirs Yom vairm e

T 8 gt
'™
™

(B) Py 3

(D) Féﬁa:‘smﬁmmrmm“

3 ST S T ) v i E S s

T Sera §, m—--?m?

(A) (8) ==k

(C) s/ D) FEa=E=

UF TR 324 gES F e ¥ A

ST T R A sem w2 7

(A) 19 (8) 20

(C) 17 (D) 18

32cme

(A) 30cm (B) 16cm

(C) 32cm (D) 84cm

T Y8 W AR o o 6w oswin
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(A) TRy (8) A
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25. : refers to the motherboard's geometry,
dlme.nsions, arrangement and electrical
requirements.
(A) Processor socket
(B) Circuit board
(C) Chipset
18) Form factor

26. Scheme is being efficiently
implemented and has succeeded in achieving
its objective of stabilizing prices of pulses.

(A) Nation Stabilization Fund (NSF)
=8} Price Stabilization Fund (PSF)

(C) Bharat Stabilization Fund (BSF)

(D) None of the above

A meaningful word starting with A is made
from the 1%, 2%, 4™, 5 and 6™ letters of the
word ‘CO TRACf’. Which of the following is
the middle letter of the word ? i

&CDT e

(A) R B) T

(9RY O Cc p 08,
28. Secretariat of BIMS;TEC is located in

(A) New Delhi (B) Beijing

(C) Dhaka 4D) Katmandu

29. is the most successful and
widely used artificial sweetner which Is

gzzﬁmughly 100 times as sweet as cane sugar.

Ej;gﬁA) Aspartame (B) Alitame

(C) Sucralose (D) Saccharin

30. The largest riverin Peninsular India is
(A) Krishna (B) Narmada

(C) Cauvery (D) Godavari

is an expansion card that allows two

31.
communicate over ordinary

computers to
phone lines.
(A) PCcard
(B) Video card

(C) Modem
(D) Network Interface Card

32. A tax that the government imposes per unit

sale of output is
(B) Gift tax

(A) Unit tax

(C) GST. (D) Direct tax

—— . 5

CMMS -S1

spqeen At gAfAEd stTTFai AR |

(A) st w2

(8) uffz @4
(c) Fomaz
(D) it &2t

26. A = = =i
% ) foor #4 F 37970 F

25,

frarfi i (NSF)
() s feartimn FAf (PSF)
(c) e fefiwT fafér (BSF)

(D) e 1 A G A ‘

27, W= 'cowmncr'é‘ﬁ_uzé, 7, a’ﬁ_u, qferd ﬂ‘h
o3 e @ A D Y B A T HA ¥ T
wa,mmmmmmm

(A) R (:)
(D) C

- (€ o

28, FR (BIMSTEC) 1 HERET Al

() & feeh (B) FT=T

(©) 7 g, 2
bt g, L0 awa 3R Fea ¥ 8 T

@mmwwﬁ'“ﬁﬁﬁmﬁzﬁ

mﬂloowmwgl 3

(A) TEIREA (o) s

(c) T () Sk
30. mmqmaﬁwﬁ@ﬁ%

(A) FT - (6)

T aw B e WA A F i

A Za R |

(A) dr.aft, FE

(8) hifeah FT

(C) wieh

(D) e $eThd e
32, TR wE firk A wf g R w e §
my (A) T 1) SRR
Eav(c) o, (D) ey T
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34.

35.

36.

37.

EZE
ﬁru“

HRLE

Bl 74

38.

39.

33.  Which of the foll

owing datements are true ?

s
15ab¢, 20ab’c
1. LC.M.of 10 b

"]I'

e g
< lifl?(f}l:l'f (%"~ G 4 a) and (x* = 27) Is
e {‘ s -‘U
3. M.CF of (68 =7x~—3) and (2x* 4+ 11x=21) Is
(2\ - %) /_,-
(A) 1,3 “(B) 2,3
(€) 1,2 (D) 1,2,3

In a class of 60, where girls are twice that of

boys, Nitish ranked seventeenth from the top,
If there are 9 girls ahead of Nitish, how many
boys are after him in the rank ?

(A) 7

(B) 23 AL
ef 12 (D) 3 AR
domain type is used by US
—— y US military

(A) mil (B) org
(C) net (D) com
is an amphoteric oxide.
(A) K,0 ABT AL,
(C) Na,0 (D) Cuo

Train A crosses a stationary train B in
35 seconds and a pole in 14 seconds with the
same speed. The length of the train A is 280
meters. What is the length of the stationary

trainB ?
(A) Cannot be determined 35 v

(B) 480 meters
(C) 400 meters f‘f_o Yolo 2,

_4B7 None of these A

Chaudhary Charan Singh Haryana Agricultural
University established in
(A) 1975 »

{€11970
Assimilation is a process of in which
the groups acquire the memories, sentiments
and attitudes of other groups.

(A) Interpretation and facilitation~

(B) Interpretation and coordination

(C) Facilitation and integration

171 Interpretation and fusion

(B) 1980 ”
(D) 1965

CMMS..s

33, fmffiaa 109 - =W FR T § 9

1. 10a’bc, 15ab, 20ab"<:?1|r,1—.1-;?‘?Tq
120 a’b’c? | ’ m"’h

2. (x’—5x+9)am(xs__27 X
WA (x - 3) 3 | ) o e

3 (64 = 7x - 3) 3y (0

WA (24— 3) 3 | ity
(A) 1,3
, (8) 2,3
(€) 1,2 (D) 1,2,3
34, Goiﬁﬂiﬁiﬁmﬁ,ﬁﬁagwagqﬁ
AL A 57 A Tt
& | 3 it & a7 o wefF € @
1 THE 398 s E 7
(A 7 (B) 23
(C) 12 (D) 3
35,
YRR 4,05, T 4 7
r{ﬂg;‘caal’llm% |
m
(C) net ((g; g‘;E"
36. O i sffaarg & |
(A) k.0 (B) ALO,
(C) Na,0 (D) Cuo

37. 3 ATE R 3 B A 35 ke o wE @
TaH T & 14 e H AU FE R | 3 AT T
280 HiA & | R 37 B wiad vt @ 7

(A) Fyifta =& for 51w
(B) 480 HiX

(C) 400 HIX

(D) 3 & g T

38, <tert =or e efcmon S faforeea i w@m
FAT ¢

(A) 1975 (B) 1980
(C) 1970 (D) 1965
39, sTeqEAFCN o ww i & R w

7w, mﬁmma@%mﬂw
e

(A) e S gl

(B) SAREAT 3T TH=A

(c) gferen iR T

(D) =TT SN HeRH
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\ TIRATIIL I y "
(A) 24 (1) 6
‘l l WY (“) ah
A Coale have a sheleton composed of

(A) calcluim carhonate
(1) cali i blcathonate
(C) calclm hydroxide
(1) calclom sulphate

When did Portuguese traveller Nunbz rea I
( the Conrt of Vijayanagara ¢
¢ (r\] 1hih (_l (n 10 Cl
AR SRR (D) 1520 C1
3, A tradesman sold an article al @ [oss of 2006,
8 It the selling price had been Increased by
Re. 100, there would have been a galn of 5%,

A W he cost price of the article (In Rs.) was
RN (A) 500 () 400
LS (€) 200 (D) 100

| '-.Q:I'I“
W
a4, The final match of Durand Cup football was

Y held at
(A) Chennal
(€) Hyderabad

The State of Nagaland created In

ih

() Bhuvaneshvar
() Kolkata

41 | A4S,
¢ (A) 1987 () 1963
) (C) 1985+ (D) 1972 )
486, The results of 21 matches (WIN, LOSS, DRAW)
B 2 are to be predicted, The number of different
» \¥  forecasts containing 18 correct results Is
of R AB) 7'C,, (3)'
(il G, (D) None of these
47. Kala-azar disease Is caused by
(A) [Iephantiasls"(ll) Anopheles +
(C) Malaria (D) Lelshmanla
48. Study the following number sequence and
iven below It

answer the question g
51473 98572
24349 6 '
How many odd n
sequence which are [t
an odd number ?

6315863852

umbers are there In the
nmediately followed by

-(8) More than4

(A) 3
(c) 2 (D) 1
""we -7-
§° % " Y ;E:\ . _l| A
from

Downloa

L ot 4B T I SR el

an,

1,
17,
e
-!:"Jt':)dl

an,

45.

46.
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e
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0opudl iy
TR AL
(A) 2.5

() n7
demquMMﬂmma?
(A) Wfenpmes mine
uumwwumw%u

(€) Mfenpn rgylonge
(1) Ml wrent
o) gl Pt e
(A) 1456 410 () 1967 400
(€) 154 feh () 1920 40

a9, ue o) o A
dert | il fagn ygen v, 100
o) ) 6% 1 et s el
ot 1ot (440 if) faerar i 7
(A) 500 (1) A0

(€) 200 (D) 100
e i et aifem et

() M
(D) Aer

(1) fi.lt
(1) 145

gragpe of Al UALN

al 200 0 wila
aq faar wl
IR G RL

IEAUN

(A) 1
(C) Ratid

sy et fanfor st I {
(A) 1087 (n) 1963
(D) 1972

(C) 1985
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ALt gss \i\
N : l‘ CMMS\SI
‘ S va certain number of 49, fx .

49, |f 4 examiners can examine a certa VA e fas g e 3
:Im\l\:-:';\:\:bmH:iays by wmklnﬂShmlrsml;w, ﬁ“h’l '{iﬁ;’-ﬂ fi kl 3 ;{é m”‘m}] 8 f’hf i
for how many hours a day would 2 examiners &, 3ﬂl'1rf€mafi ) k! “ﬂ‘man ) My e “’.‘?.
have to work in order to examine twice the T .,},‘ﬁ‘u ‘ fﬂ]:n e 3 20 £ MR

. number of answer books in 20 days 7~ bt “T% 2 Tlagent o P it fr d_}ﬂ]‘l*rliq
y g8 2" (A) 8 hours (B) 9 hours (A) 8 'm‘nﬂ
(C) 7 hours (D) 6 hours () 7% (B) 972
; : D) 6%2
SQ  The Tertiary Sector of Economic activiti ( =
g, €3 Y~ ¢ includes .- >0. am\ih; ’Tﬁ'ﬁﬁnﬁ ?‘ﬁﬂ?ﬁn !ﬁ} -
o ~  (A) Banking (A) ifdm A4 mferey
(ox= 4P (B) Education
(C) Transport (6) ﬁmﬂtﬁ
“.7™ D) All of the above (C) wfterss
D) IMag
51. The Standard Meridian of India Passes th N R
the city of fough | 59 RULEH
_ Ty P R e g e
s 5 (A) Chennai (B) Calcutta 87 et BT T
_JE)' erzapur (D) Ahemadabad 22; %'_"g (B) et
=4¢ 52 Which part contains the fractions in 3 (D) 3rEwerETe
) /' ascending order 2 52. Fﬁﬁﬂﬁﬂ—@fﬁ:mmﬁﬁ ?
16 11 16 16 16 11 |
—_——, (8) il 16 11 16 16 16
21 14 19 - 19 21714 (4) ﬁ'i’j'”{g B) 1‘9"3?%
() 16 11 16 (o) 11 16 16 (c) 16 11 16 () 11 16 16
o 19°14° 21 14°19’ 21 19°14" 21 14"19° 21
53. Irfe r:1hoe flen;aie rE)aren'c bears bisexual flowers, 53. IR OE wA% Isufert W F R, @
‘. 3 va' of anthers from the flower bud before Bl 1 ot 3 Raem @ el & e 5 3w
* the anther dehisces using a pair of forceps is FTh RIS B GO A R WAITS0R ||
necessary. This step is referred to as FRSTIL |
2] (A) Bagging (A) A
= (B) Emasculation (B)
(C) Glycobasilisation (C) TERHATIATEIYH
- ¥ 1 1 B Artificial hybridisation (D) T FRfrERSH
54. 4,12,36,108, ? M o Sdd b 108,
B) 364 (A) 324 (B) 364
. TAY 324 (8) (C) 240 (D) 180
'-;— (C) 240 (D) 180
55. refers to the number of pixels in | 55. 1 ¥ WAt Afer it 3
the horizontal and vertical directions on the femati A fawa M denA g
screen. - (A) farste= KR
AT Resolution (B) T e rﬂﬁg
(B) Color depth - (c) &z fom '
(C) Dot pitch (D) forer =t
(D) Refresh rate
0 o
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56.

57.

58.

59.

61.

62.

The "Norg

tr
Seen in the T\m" 2 Pipeline (NS2P)' recently
followin CWS connects which of 1
B wo countries 7 1 -

(A) Germany - France

German
any = Russia

(D) Denmark - Sweden

Which of
Pran Vayy g:o following States has launched
(A) M evia Pension Scheme (PVDPS) ?

aharashtra -n) Haryana
(C) Sikkim o
G (D) None of the above
of th Ich of the following interaction only one
(A) :nspec'es is benefited ?

utuali ,

ualism (B Parasitism

c c 3y
(C) Competition (D) None of these

Who among the following is the Indian member
of the International Court of Justice {ICJ) ?

(A) Dalveer Bhandari

(B) N.V.Ramana

(C) Harish Saive

(D) None of the above

60. The yw_oman leader Kanaklata Barua who
participated in the Quit India Movement

belongs to
(A) Bihar _i8) Bengal
(C) Assam (D) Odisha

It refers to the denial of opportunity for living

a tolerable life

(A) Collective poverty

(B) Economic poverty 3
(C) Human poverty
(D) Income poverty
in two equal parts along a plane
f its faces. One piece is then
e two larger faces and green
while the other is coloured
ler adjacent faces and red on
h is then cut into 32 cubes of

A cube is cut
parallel to one O
coloured red on th
on the remaining,
green on two smal
the remaining. Eac
same size and mixed up.

How many cubes have only oné colored face

each ?
(A) O 48) 16
(c) 8 (D) 32

o 4
Y
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fyafirfera i 2 PF A it 1 gl 2
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(p) sff - EH

(c) U - ifeE!

(0) Famrk - ezt -
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Directions Q. No. 63 - 65 : Read the following information

10 answer the given questions.

The Director of the Institute has announced that
six guest lectures on different areas like Leadership,
Decision Making, Quality Circles, Motivation,
Assessment Centre and Group Discussion are to be
omganised only one on each day from Monday to

Sunday.

63.

64,

65.

66.

67.

&

I. Motivation should be organised
immediately after Assessment Centre.

Il. Quality Circle should be organised on

Wednesday and should not be followed

by Group Discussion.

Decision Making should be organised on

Friday and there should be a gap of two

days between Leadership and Group

Discussion,

One day there will be no lecture (Saturday

is not that day), just before that day Group

Discussion will be organised.

IV,

Which of the two pairs of lectures was
organised on first and last day ?

(A) Group Discussion and Decision Making »
(B) Group Discussion and Quality Circle \o
{(C) Quality Circle and Motivation -

D) None of these |

Which day will the lecture on Leadership be
organised ?
(A) Friday

(C) Tuesday

How many lectures are organised between
Motivation and Quality Circle ?

(A) Three (B) Four

(C) Two (D) One

In a family there are six members A, B, C, D,
E and F. A and B are married couple. A being
the male member. D is the only son of C, who
is the brother of A. E is the sister of D. B is
the daughter-in-law of F, whose husband has

(B) Wednesday
(D) None of these

passed away. ORNG
WhoisC toB? A
e

(A) Nephew r{B‘)’Erother-In-law

(C) Son-in-law (D) Brother

The efficiency of Carnot engine is 50% and
temperature of sink is 500 K. If temperature
of source is kept constant and its efficiency
raised to 60%, then the required temperature
of sink will be

(A) 400K (B) 500 K
(©) 600K (D) 100K
/] ¢ -10-
(A-0 l
l D

CMM:s .. S

Pm w4, 63— 65 ¢ s & T Oty
Wl & I AR |

weum & v 3w A 2

i i 4

ﬁuh 'm'qwfﬁ:&h’ N

W B: i =rerm gwEn | U

TS gy strer |

63.

64.

65.

66.

67.

\ o, Tt 7 % g AR A 6

EIE! |
I, gwamqag!ma?lmﬁmﬁwm“‘

3ik 3 ag A = T 2 =R |

, ol famfor ypRem &1 it
S 3t e ah e

o & df=9 @

=R |

1 AT BT

V. T R syrer A e (A
% 37 781 2), I T 6 TG
o o e | e
aha—ﬁmﬁ'qﬂ?z’l gm Teat ¥ 3t f

e fmar smom
(A) &g == ik favfa famion
HAL bkt ikl
(D) T & S 781

o R e s smifera fefan smem 7

(A) YIHaR (8) gHAT
(C) WTEER (D) % | IS T

ot 31 v g 3 aft e sTerH AR
fau s ¢

(A) T (B) 91

() & (D) TH

uF URERd 6 GG A, B, C, D, E3MFE | A3
foafRa e € | ARY TR R | D, C 1 gl
%ﬂsﬁAmﬂTQ%IE,Dzﬁaﬂw%iB,Ftﬁz

forash aft e g € |
C,BFHAR?

(A) et (B) wEAS
(C) 2mTR (D) +Tr§

FHERE T B e 50% IR fw @ o
500 K & | a2 &Ya =1 a9 Frga wan sman @ at
Q&A1 60% g Sret ® | e =6 aifisa a2

(A) 400K (B) 500 K
(C) 600K (D) 100K

L
ol2@yvnload from www.MsEducationTv.com



70.

73

74

78,

76,

Al Bl e

L *
. cMms - S1
0m the g;
fﬂaﬂmshglven 2ternatives f
BIUL 'P that holgs ¢ find the correct 6 ﬂaﬁﬁﬁmﬂﬁgﬁﬁaqﬁtm
BOQQ:; Lpypy s WO S together. 8. Ry
(A) HMcm Y2 : e g g | _
HMNC (B) HMCC FuL: 8000 LHRYES o) vce
Which (D) HCMM (A) HMCM (D) HCMM
longest ifr'the following Constitution i (€) HMNC R g T
(A) Germ;:zco':‘sﬁtuﬁon in the ::rlt'is ?the 6. fmRian ﬁ.ﬁ m’ﬁ—fl‘
(B) French stitution wa frfaq R &
s Onstitution (A) aﬁ:{ & A
merican Congtitys (8) gmﬂtﬂaﬁmﬂ
AT None of 1, g amfE gfaum
S o (O A
Those who are working (D) T R
enjoy orking in the formal sector | 70, shqah® § wrd el ¥ —
:;7 Social security benefits mﬂé‘ﬁ? |
(c) & el banefit () T GO T
(D} [(r)ngmk benefy ([] ﬁﬁf* '™
" (p) afiE T
Complet :
p.,:: (:1| !'w'fnuowmg analogy : 71. { ”Wm TI ﬂm 4
‘i Moof : 7 m.f.p;ﬁ;:ﬁt:?
(A) Clephant ' A
o (D) Horse (€) wua (0) Wil ok
::s':::lt:::ﬂwlw of & cylinder Is 28 cm and | 72, wRew W aqt 28 cm B M :"‘f '
(mun'l; I8 ¥ 30 s, than Wotsl ursoon 08 20 emd, @ IH e AT (em" )
(A) 2992 (B) 2229 (A) 2992 (6) ;;;‘;
(€) 2292 (D) 2993 (292 (ol i
Auminum phosphide is used a 7 73. '.*_ﬂgfa'-rﬂ yleprge Wl el
" ed o Joy 10 3w d famama b
(A) Fumigants 'R E Rl e () YA
(B) Solid mass 4 Cif A ) aaER .
(C) Water soluble concentrates g - fap b ™ ) (C) g1 4 g'ﬁiﬂlﬁﬂ Wiz
[0) Tmulsifible concentrates lt\:'f i & (D) qraefrani W1
URL stands for | 74 R § WA ?_
(A) Uniform Remote Locator P :-;: (A) ‘iﬁ'ﬁd hﬂjz Hﬁ'{'
(B) Uniform Resource Locatot Y= 17521 (8) 'ﬂ?ﬁé fl?ﬂﬁ i.?ﬂﬂ'
(C) Universe Resource Loade! ") (€) Eﬁi‘”ﬂ"ﬁ ?ﬂl
s B D frard @rel &
(D) Unique Resource Loader ¥ 0) Qﬁ"?;nm -t par- L fer
connection is an affordable way>® 25 e 2
1o ink Two Of more sites for a fixed monthly aw ¥fuF greZl 1 e qzdg alFl
charge. 362 (a) SgEE @ (8) ¥18 CH
(A) Leased line ‘fﬁ]’ﬂmad band 244l e $2a ©TE8 (0) W.U.‘T-f’-"?-
(C) Cable modem (D) ISON oy 3
furopean Atomic Energy Community is ~T8. Qo= T w4 Ltel t
(A) EUTOM (8) EUKASH (A) EUTOM (8) EUKASH
(C) EURATOM (D) EUREKATOM (C) EURATOM (D) EUREKATOM
Lok EoW i v v A ) c. Q
\ ; 1 3 12 L] i1 (U L = 3 H
1 i = 3 L l w 273 lg m " )
 Bobnisa i v MeEd 2]
‘ ownlead fro ¥ N
¢ m www. MsEducationTv.com



77.

78.

79.

80.

81.

82,

83.

Consumption whi i

oo gs chisindependent of income
(A) Past Consumption

(B) Wasteful Consumption
(C) Autonomous Consumption
(D) Induced Consumption

' Is @ very high speed, ex i
piece of memory, which is used to sppe?er:isﬁe
the memory-retrieval process. :
(A) Read Only Memory (ROM)

(B) Cache Memory

(C) Random Access Memory (RAM)

(D) Secondary Memory

The Logo of Reserve Bank of India consists of
which animal ?

(A) Dog

(B) Lion

(C) Tiger

(D) None of the above

The Cyber Law is a subject comes under

(A) Union List (B) Residuary Powers

(C) State List
Index is used for measuring

inflation in retail prices.

(A) WPl

(C) cPI-wW

The Article of the Indian Constitution which

protects the life and personal liberty
(A) Article 19 (B) Article 20

(C) Article 21 (D) Article 14

(D) Concurrent List

(B) WPI-IW
(D) None of these

In this question, two statements are given
followed by two conclusions. .Choose the
conclusion(s) which best fit(s) logically. %};‘E‘f

Statements : Oro)

1. Some planets are sun. $
; 5
2. No sun is star. \v
i 00 § -V
Conclusions : @ |
l. All planetsissun. — »

Il. No staris sun.
(A) Neither conclusion | nor Il follows
(B) Both conclusions | and Il follow
(C) Only conclusion | follows

(D) Only conclusion Il follows

12-
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84, Amri
i
rlta DQVI Biﬂhll[‘hi Na”ﬂn

YG
i ;:ernmenl of India for
nater Conser\ratinn
ergy C Onservation
\:’fte Consowalion
ildlife Conser\'aﬁm

al Award Is Instituted

(€) L
(D)

85,
3 has launched the National
It i O Unorganised Workers (NDUW).

}3 Shf‘amajeevi portal (B) e-Dhan portal
€-Ruju portal (D) e-Shram portal
86. fSiEIECt the correct mirror image of the given
Eure when the mirror is placed at line AB.
A

ASThRO>?p T?

]
(A) 9<CosIHTZA
(C) VRLHE9>b
The emerging novel concept, is @ zero-carbon

(B) V2LFEO>3b
(0) 99<OSTZA

87.

fuel made by electrolysis using renewable
power from wind and solar to split water into
hydrogen and oxygen

(A) Green oxygen (B) White oxygen
(C) ‘White hydrogen }D) ('E_Eeen hydrogen

According to Marx, the owners of the means
of production in a society are called

(A) Bourgeoisie (B) Vassals

(C) Proletariat (D) None of these

89, If ‘how are you'is written as ‘ne ’kl se’ and
‘where are you’ as ‘ne bl se’ and }rgu_were
here’ as ‘ke nejo’, then ‘you' is written as
(A) K ~ (8) bl
AC) ne (D) se

90. Uﬁde"r ;I:Is section of CrPC, a person who
is avoiding execution of a warrant may be

proclaimed absconder

(A) 83 (B) 84
(c) 82 (D) 81
Wk \dv Y -13-
[F1v g
k AR gy
pM v

e
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91.

92,

93.

94.

95.

English Language

Fill up the blank in the following sentence using
the noun forms of word given in bracket.

The accused had nothing to say in his own
(defend).

(A) defensive

(C) defence

(B) defendable
(D) defend

In the following question, there is a statement
followed by three starters which are denoted
by a, b and c. Each starter is a group of the
first few words of a sentence which, on proper
completion, is supposed to convey the same
meaning as the original statement. Find out
which starter(s) can form grammatically correct
sentence(s) to convey the same meaning as the
original statement.

Neither of her sisters is as beautiful as she is.
a. Either has sisters ...
b. Both her sisters ....
c. Sheis more ...

(A) Onlyc

(C) Onlya

(8) Onlyb
{B) None of these

Fill in the blank with appropriate modal from
the alternatives given below them.

It rain tonight.

(Ay may (B) shall
(C) could (D) can

Choose the right meaning of the
idiomatic expressions from the
alternatives given below it.
Have an axe to grind
(A) In a difficult position
(B) Having great problems
(C) Deliberately avoid some :
(B Having private reasons for bein
in something

Choose the right synonym of the given word.

thing/someone
g involved

AUDACIOUS _ '
(A) babble (8) daring
(C) fragile (D) astound

96.

97.

98.
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